TemMma:

«Pemmenue
JorapmudmMmuuYeCcKmux
HEepaBEHCTB»




OnpederieHue:

Norapndpmunyecknmm
HepaBeHCTBaMWN Ha3bIBatOT
HepaBeHCTBa Bnaa

roe a — NoNoXunternbHoe 4Yncro,
OoTNin4yHoe oT 1, N HepaBEHCTBA,
cBoAadLLMeCH K 3TOMY BUAY.



AJiropuTM

ellpua >1 f(x)>0,

g(x)>0, .
S(x)> g(x),

N

ellpuo<a<i1 .
J(x) >0,

g(x)>0, .
S (x) < g(x).

.




log 2x-4)>]log (14-x)

PeuweHue:
2x—4>0
114—x>0

2x—4>14—x



log: (2x-3)>log, (14 -x)

Pemmenue:
2x—4>0
114 —x>0

2x—4<14-x



ObnacTtb onpeaeneHuns:

No dopmyJia YciaoBua
1
y=log, f(x) J(x)>0
2
=1 b g(x)>0;
Y Ogg(x) {g(x) #1.
3 .
y=logg(x) f(x) 81>
18(x) #1;
| f(x)>0.




n  log (x —6x+24)<4

(x%4h+24>0

x —6x+24<16

\

)
X — Jqroboe

x —6x+8<0

2<x<4



2) Ingx > 410g2x—3

2
logzx—4log2x+3 > ()

10 xX=t
£ —4t+3>0 ©
<1
t>3 x>0
| < __
: x <2 O<x<?2
00 x<l1 -
10g2x>3 <x>0 x> 8
108, _\x>8




3) 10g2(7 — X) +log2x > 1+ 10g23

log x(7-x)2log 6

(x(7—x)>0
xX(7—-x)=26

9

0<x<7

—x +7x-620

9

O0<x<7

1<x<6



